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Question id : 5917 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 2ms for 10s. It then runs ata

= 5 s : :
constant speed for 30s and deaccelerates at 4ms™ until it stops at the next station. The distance
between the two stations 13

Options :

1. % 650m
2. % 700m
3.9 750m
4. % 800m

Question id : 5917 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
TS HEIT I e Hewr § v T § Tedr § 3R 10s d% 2ms? fr ¥ F o

Fordr ¥ 5HF 9% 9% 9 30s a% WIRaaale A ¥ gisdr § AR A9 e w2
W T aF dms? F @ A T B FA AT &1 ST R F 9T b gl e &
Options :

1. % 650m

2. % 700m

3.9 750m

4. % 800m
sd

Question id : 5918 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following quantities is a vector?

Options :

1.V Area

2. % Velume

3. % Angle

4, % Speed

Question id : 5918 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
rafafaa # o =tF 9@ a@er afewr 87

Options :
1. ¥ & awer
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2. % 3TgaOA
3. % @yor
4. % ifg
Question id : 5919  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If the universal gravitational constant were decreasing wiath time. then satellite 1n orbat would still
maimntam its:

Options :

1. % Orbital radius
2.+ Angular momentum
3. ® Tangential speed

4. % Period of revelution

Question id : 5919  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
i ArEHIHE Ecarrior PRI AT & WY g IET 61 o H&1 H 3UHp a9 off HU S W R gArT WA

Options :

1. % wmafrr B

2. ¢ i @aer
3.8 Foevde At
4. % afgaur T afe

Question id : 5920  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The velocity with which a projectile must be fired so that it escapes earth’s gravitation does not
depend on:

Options :

1. % Mass of the earth
2.+ Mass of the projectile.
3. # Radius of the orbit.

4. % Gravitational constant.

Question id : 5920  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

a5 a9 o9 W U waTT BisT o & T dife a6 T & Eca@yeT § ] fodd AT, 5aA O e ) R adt &
Options :

1. % gzdl & geg#TeT

2. aidr & geadr |

3. % et Fr T

4. % TEATEYOT AT

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The second law of thermodynamzcs introduces the concept of:

Options :

1. % Heat

2. % Temperature
3.+ Entropy

4. % Internal energy of the system

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ST T GE oad s @ fa 3auReT &7 @Ry T b

Options :

1. % FeAT

2. % JOHAE

3. derdr

4. % somdhr # snaRE Fof

Question id : 5922  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
The manifestation of band structure i solids 15 a consequence of
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Options :
1. # Heisenberg s uncertamty principle

2.« Pauli’s exclusion principle
3. % Bohr's correspondence principle

4. % Ohm’s law

Question id : 5922  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
T 7 ds grger #1 vedlT 98 § e oione &

Options :

1. % grsaieasT &1 AA9addr &1 e

2.V UIEeT FT HUTS & fOad

3. % GIgT & SETlss & fgaid
4. % HEA F HIH

Question id : 5923  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A disc shaped magnet levitate above a superconducting material that has been cooled by liquad

nitrogen. This happens because a superconductor 1s:
Options :

1. ¢ Diamagnetic

2. # Nonmagnetic

3. % Paramagnetic

4. % Ferromagnetic

Question id : 5923  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

T AT # 32 T 70 v HAEeE 9O F IR v BERaA 9Ead a1 # IoRT T §) A5 SHiAT o & adife Aiaaras

Options :
1. ufagFasE §

2. % IR-gFEEHT B
3. % NFEFaHT §
4. % dggFaT §

Question id : 5924  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

An ideal gas engine operates in a Camot cycle. It absorbs heat at a temperature Ty and exhausts heat

at T». The efficiency of this engine 1s:
Options :

1LV (T =TT,

2. 8% (Ty+T)T,

3.% (T1-T)T,

4. 8% TyTs

Question id : 5924  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

e e I Soie Feite g H ST BT §1 9% arvHe Ty 9 FEAT & 3aeid aar § 3R T, o FvAr 7 Henfid s¥ar §1 59 Seidl 6T

Options :
1.¢ (T4 - To)lTy

2. ® {T-] + szﬂ—-]
3.% (T4 - To)Ty
4. % TyfT,

Question id : 5925 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Superposition of two waves trains of same amplitudes and nearly same frequencies. moving in the
same direction. results i the formation of beats. The maximum loudness heard at the waxing 15 n

times the loudness of each of the component wave trams. The value of n 15
Options :
1. % 1
2.% 2
3.¥ 4
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4. %8

Question id : 5925 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tk & FAE $T AN TR UF T WEhd & OF 41w F 99 @ ol aurAeH F

RO & IROMA Tet gl §1 dfFaer & §47 G 75 ifesan vaed, 9o
eeh TLITHTeT T Faoidl & n S &1 n @ AT S o F=4

Options :
1. %1
2.% 2
3. 4
4.% 8

Question id : 5926 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

An earthquake generates both transverse (S) and longitudinal (P) waves in earth. The speed  of §

waves is about 4.5kms™! and that of P wave 8.0kms™. A seismograph records P and S waves from an
earthquake. The first P wave arrives 4.0 mun before the first § wave. The epicenter 15 located at a
distance of about:

Options :

1. % 25km

2. % 250 km
3.9 2500 km
4, % 25000 km

Question id : 5926 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TH ST Tl & ey (S) AR IEded (P) X O IcUed wXar 81 S awt &
arfa wersTer 4.5kms™ 3R P At & aifa 8.0 kmsT1 1 e s s@d & PR
S T F gof Far {1 9ge P A0 gl S AT & 3 & 4.0 B 9w ggad
Hehd-he e Thael ol W &

Options :

1. % 25km

2. % 250km

3. ¢ 2500km

4. % 25000km

Question id : 5927 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Quantization of electnic charge 1s demonstrated by:
Options :

1.« Millikan’s o1l drop experiment

2. % Thompson’s experiment

3. % Rutherford's o-ray scattering experiment

4. ® Stern- Gerlach experiment

Question id : 5927  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
fagga snder &1 gRemHERer (Quantization) 6 garT wEfdia fFar amar &

Options :
1. TR & Jer & dg & e
2. % ofl PO T YT

3. % TCImIS @ -y THCRET &1 TEET
4. % Tow- TG FH FAET

Question id : 5928 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Ampere’ circuital law can be expressed as:

Options :

1. VxXB=npu]
2.% VXB=0
3. % grad B=10
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4. % DivB=0

Question id : 5928 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
TIRR & gca 1w Feefea 7 9 e w9 7 =aa & o1 5 &

Options :
. V XB=y]

2.% VXB=0
3.% grad B=20
4. % DivB = 0

Question id : 5929 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Gauss's law. the electric field due to an mnfinitely long thin charged wire varies as:

Options :
1.v 1
2. % 142
3.% 1

4. 8% 2

Question id : 5929  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

M & FH & R, U ORMAT T § o 9de WERa a) F FRT facga ard
# fha w9 & Sea3ar 7T B

Options :

L. 1ir

2. % 2

3.8 ¢

4. % 2

Question id : 5930  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

A rectangular loop of sides 15cm and 10cm. carryving a current of 1A 15 placed with its longer side

parallel to long straight wire carrying a current of 2A placed at distance of 2cin. The net force
experienced by the loop 1s

Options :

1. ¥ 25 x 1077 N towards the longer side.
2.% 25x 107N away from the longer side.
3. % 30x107 N towards the longer side

4. % 30x107 N away from the longer side

Question id : 5930  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
15cm 3R 10cm & ST AT U FEAER T I, &A1 1A & fGegd v a1 aea

mm%,mﬁﬁmﬂmm%ﬁﬁﬁﬁrﬁaﬂ,mmarﬁ?@ﬁmma@ﬂm
T &, & FARIR 2cm gl W @1 AT | §9 GaRT e RRAT Sl arell g aer
e &

Options :
1. ¥ 25x 1077 N il 87T T 37
2. % 25x 107 N S s A gy
3. % 30x107 N @l &1 @1 3R
4.% 30107 N et 8o Ay
2
Question id : 5931 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A solid sphere & a hollow sphere of radius R are rolling down an mclined plane of height h. The
ratio of velocities of Solid sphere to Hollow sphere on reachmg the bottom 15

Options :
1. % 21
25
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2.¢ |25
21
3.% 3
5
4. % |5
3

Question id : 5931 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frsar R & va 219 dier 3iR @iaer il & h 305 arel g1 §U aer I e Sl §

, HS W UpTe WO HR EiEer A & a9 & i o 3ieard g

Options :
1.# )21
25
2.¢ ”E
21
3.% 3
5
4. % |5
3

Question id : 5932  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A corona around the moon 1s seen when we view it on a fogy or misty night. This 1s due to:

Options :

1.« Diffraction patterns of air born water droplets
2. % Dispersion of light by air born water droplets
3. # Scattermg of light by air born water droplets.

4. % Formation of diffused image of moon.

Question id : 5932  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
Sd §F T A AT G T F TSA F 2@ B A SHEF IR R U UAIHSS W1 AT §1 FHA FROT &

Options :

1. arg Sfad gl #1 B S dar # Fade e

2. % arg ST gl & B ST dal GaRT Fahrer & Tl

3. % arg SAfad 9l &1 B B dal garT e & e

4. % =ean & fauRa ofa & @aor

Question id : 5933 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)

In cold season when lakes freeze. only the top water freezes. Below this layer the water does not
freeze and the aquatic life survives. This happens because of :

Options :
1. % Poor thermal conductivity of ice
2.« The density of water 1s maximum at 4°C

3. #% Heat convection does not take place in water.

4. % Low latent heat of fusion of water

Question id : 5933  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tfet & Atew # = sfel o7 St §, O Fod IW # OET AT B 59 W F A

T AT TAET STHAT A STl SitdeT =T I@ar 1 U7 SEfeT BT & it

Options :
1. % g &1 ade arasar yaaeg gl &
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2. O F geed 4°c W AR g &
3. % Onil # I©AT H Fagd @6l gl
4. % Ol & Herde T AT FAT HA B B

Question id : 5934 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) according to Fermi-Dirac statistics 1s
P(E) = l/(e(E-Er)/kT +1)
a quantum state whose energy 1s 0.01 eV above the Fermi energy 1s about
. assume a sample temperature of 800K:

Options :
1. % 50%
2. % 60%
3% 70%
4. v 80%

Question id : 5934  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

wHl-f50 st & IR, ST dEfEafer PE) = 1/(e(E-Ep)/AT +1) T F@mes
e ¢ o w1 aener 0.01 eV WAl S 6 IR B, AT 9 & ovw ae g
AIAT 800K &

Options :

1. % 50%

2. % 60%

3. % T0%

4. v 80%

Question id : 5935 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two masses m] and m? are connected by a massless spring of spring constant k.
The system 1s free to oscillate along the length of spring. The system oscillates
with a frequency:

oV )TT VN0
™y Mo
Options :

1.+ % E where p = ((mimz)/(m1+ m))

2. ® J% where p = ((mim2)/(mi+m2))

3. % J% where p = ((mim2)/(m1-+ma))

4, ® i i—! where p=((mm;)/(m;+m;))

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5935 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ﬁmmﬂﬁmzﬁmWWWWKa
¥ 3 ¢ o &7 Fars & |1y Ig 9ONe Gloe R & T Faad gl
qoTrell feherell 3afcd & A aleld &l o

R
S VTIITY W0
™, ) =
Options :
L ﬁ\g SEF 1= ((mml(me+ m))
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2.8 [u_ .
7 161 1= ((mimg)/(my+mgz))
s [E st = (mimaimiems)

1 o
4, ® ;J% BT U=((mamz)/(m1+mz))
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5936  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The Plank s distribution function 15 grven by:

Options :

1.V lexplhw/r) +1)

2. % 1/lexp(hw/T) — 1)

3. % 1f{exp(-hw/T) +1)

4. % 1f(exp(-hw/T) - 1)

Question id : 5936  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Toldh & TaaR0T Feld Toheeh eal odad fhal o1l &

Options :
1. v 1lexp(hw/T) +1)

2. % 1 Jexp(fw/t) — 1)
3. % (exp(-fw/t) +1)
4. % 1(exp(-hwjt) - 1)

Question id : 5937  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

At very low temperatures. the heat capacity Cyy of a solid 1s:
Options :

1. ¢ (12%*/3)Nks(T/8)°

2. % (12nhNks(T/8)

3. % (12:Y)Nks (g)i

4. % (120/5)Nks (g)i

Question id : 5937 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
a@awmw,waﬁaﬁrmtmcvsﬂﬁ#%ﬁrﬁ?ﬁﬁ:

Options :

1. (120 15)Nks( T9)?
2. % (120 Nkz(T/8)
3 % (1211“)Nk5(§)3
4 % (12#;5);%(%)3

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The London penetration depth s given by:

Options :

1. (metdmngh)l?
2. % (mcl:’rmql)l :
3. % (mcl-ﬂlnql)1 e
4. % (-‘L‘[ma:l"=‘l-r1ql)1 :

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e Yelced 39 3o o fRed eanr afvia @ S 8

Options :
1. (mcZfdnng?) 12
2. % (mcirng?)2
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3 % (I’T’ICZMHQQ).]'Q
4. % (4numc?/dng?)!?

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Clausiuns and Mossotti equation 15 given by:

Options :
e+l

1. % e (naet/3e0)

-1 S
R4 Z— = (not/3€0)

+2
e+2 4

3. % ;=(h‘aaf35|ﬂ
e+l r

4. 8 —=(nalie,)

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FATET 3R FAAET TAOT S0 F ToFaeh g@r v har =ar &

Options :
1 #® 1“
: e-1
e—1
2Y e
42
e—1
4. % = (maf3eo)

e-2

(Noal3eq)

(Moa/3es)

3 %

(noal3eo)

Question id : 5940  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The work done in deforming a body 1s given by
Options :

1. % StressxStrain

2. %(StressXSraiu)

3. # Stress/Stram

4. % Strain/Stress

Question id : 5940  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
s & fawaor & foar & @ & s cany afvig fear = &

Options :

[ % T x®a
2.9 1/2 (BH xTA)
3. % W IR
4. % T/ wH

Question id : 5941  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A liquid drop acquires spherical shape due to:

Options :

1. % Gravity

2. ¥ Surface tension
3. ®& Viscosity

4. % Intermolecular mteraction

Question id : 5941  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
Sl I R FROT W 89 A UF dg AR P aROT Fl

Options :

1. ® TEcATRYOT

2. 9S8 gad

3. % emEIar

4. % 3R 39E ek BRAT

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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In an orbital motion. the angular momentum vector is:

Options :
1. % aleng the radius vector
2. # parallel to the linear momentum

3. % in the orbital plane

4.« perpendicular to the orbital plane

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T hEl aifg #, Sofra gger g

Options :

1. % f¥oar giceyr & 91 gidr &
2. % e 9397 F SEEER T &
3. % el gEET H BT B

4. Fair GHETT & oFadcd gidT B

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The Clausius- Clapyron’s equation of latent heat is given by:

Options :

P B
dT T(V2-¥1)
7 % dP L

daT  T(vi-va)
3 % 4P _L2ev

dT va-ri
4% dP 2 L(V2-V1)
: dT V21Vl

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FATEG-FIAL &7 I FOAT H1 FHEOT FFh ganT afod faam e &

Options :

dP L
Vs

daT T(V2-v1)
) ® dP = L

ar | Tvi-v2)

3 % dFP L(V2+V1)

ar Vz—vi
4 % 98 - LO2VY
-7ar v2ivi

Question id : 5944  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
The working principle of pressure gauges for measuring static pressure of a fluid flowing in a pipe 15
based on

Options :

1. % Poiseuille’s law

2. ¥ Bemoulli's theorem
3. % Stokes’s law

4. % Hoockes law

Question id : 5944 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T UET A 9% ® g o Sifdw cag Aa & ©w caw A9 @ e-faed e W

el glar &
Options :

1. ® digege @1 @A
2. ¥ arEtelr & v
3. % TaE & HaH
4. % @Tzﬁaﬁrﬁmﬁ

Question id : 5945  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A double slit experiment 1s performed with light of wavelength 500 nm. A thin film of thickness 2
wm-and refractive index 1.5, 18 mitroduced in the path of the upper beam. The location of the central
maxunum will:

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul... 10/42
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Options :

1. % Remain unshified

2. % Shaft downwards by nearly two fringes
3.« Shift upwards by nearly two fringes

4. % Shift downwards by 10 frmges

Question id : 5945 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
500 nm TREd & U & T U Sddl Fele W@ fRAT S@r §1 2 ym Hes &

3R 1.5 sadend & vE gaer fher I8 BROGE & 99 # s oidr gl dgd
AfFann & Fufy T gef

Options :

1. % Hﬂﬂiﬁﬁﬁg@ﬁmﬁ?‘f‘r

2. % ofareer gy foheT de airg STeelt

3. ofareer of fihet ek FO% ARl

4. % 10 Tire d& dr Sear

Question id : 5946  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In diffraction from a single slit. the angular width of the central maximum does not depend upon:
Options :

1. # Wavelength

2. % Width of the slit

3. ¢ Distance between the slit and the screen

4, % The ratio of wavelength and the slit width

Question id : 5946  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e e @ fada #d, oo dfFaas £ oy Oise oo o e W TR g

Options :

1. % sRaee

2. % fEoe &1 glsrg

3. v e 3R B & a9 dr gl

4. % Fooeed AR Ree $r diss F1 e

Subsection : 2, Question Shuffling Allowed : Yes

Question id : 5947  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

(@2 +2x-1 x<1
In computation. the function f1s defined by f(x) =1

L b—cx, X
where a, b, ¢ are constants. It is given that f{x) is differentiable at x =1 and
S(0y= f'(2) . Then the value ofb 1s
Options :
1.v 15
2. % 14
3.% 16
4. % 17
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.
Question id : 5947 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
: (@ +2x-1, x<1
HTHhed A, Gl T &l f(.r)::,m g *
| b-—ax, x>1
CarT 9iETed far Sar &, 96l a, b, ¢ e 8 g8 an e g T
x =13 FO=F Q)T f(x) Jahe=lg §| df b & AT T &

Options :
1.¥ 15
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2. % 14
3.% 16
4. % 17

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The minimum value of function ¥ exists when x=

Options :
I
2.% E
3.8 e

4. % ¢

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Telad fa?r edAdH A=A d=dl 15l % od X =

Options :
1. ¢!
2.% E
3.8 o ¢

4.8 ¢

Question id : 5949  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The solution of the differential equation Q -3 ﬂ +ly= & is
e dx
Options :
5 si. I %
1.V y=ae +be” +=¢€”

2

% .1
2. % y=ae*+be™ +5€*

sz E 4o
3. % y=ae -e-be‘-‘——?g“

_ = W
4. % y=qge "+h¢f‘+§e”‘

Question id : 5949  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
dy .dy . :
faeiger HefleoT E“f—ag—lv:g‘" HT G S G FAT§

Options :
.« y=ae" +be™* +%é‘x

2. % y=ae"‘+be‘3"—%es"

Question id : 5950  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A

oz 4 i
The solution of the partial differential equation —- =sin(xy)is
a’

Options :
1. z=—x"sin{xy)+ 1 (x) + g(x)
2. % z=—xsin(xy)—xf(x)+g(x)

3.8 z=—ysin(g)+3f (3)+g(x)

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. ...
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4. % 2=y sin(xy)+ 3 (X)+g(x)

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5950 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

i fastes wefEoT 2 = sin(xy) @ o A & F4T &

2
&

Options :

1. z=—x sin(xy) + 3 (x) + g(x)

2. % z=—xsin(xy)—xf (x)+g(x)

3. % z=—ysin(xy)+3f (x) +g(x)

4. % z=x"sin(xy)+3f (x)+g(x)
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5951  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

Solution of p\/; +q\/._‘ = Jg 1s

Options :

L% xsfy=fldx-z
2. x—y = f(x—F)
3% i=yy=f(Vr )
4% frey=fee)

Question id : 5951  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

plx+qfy="Caga s F F B

Options :

L# Jrefy=f(Vx—)
2.7 x—\y=f(x—z)
3.8 x=Jy=f(Jx=+7)
4.8 e fy=f(Vx+F)

Question id : 5952  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
4 5 :

The Seiies e o e e S

[ ]
taa

Options :
1. % absolutely convergent

2. # Divergent
3. # Oscillatory

4.« conditionally convergent

Question id : 5952  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

2 3 5

Aoty 234 S $
P T

Options :

1. % guid: e

2. % gET

3. % ZreEr (3fEeen)
4. Fufgaer fEarr

Question id : 5953  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let £ (x)=x"vx=[0,1]and for all positive integers n. then

Options :

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss %2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  13/42
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L* (1)

does not converge at any point

2.¢ <f" converges at every point but does not converge uniformly.
3. % <f,,) converges at some points but does not converges at some other points
4, ® <f,,) converges uniformly

Question id : 5953  Question Type : MCQ (Correc_t + 1.0, Wrong - 0.0)
afg f,(x)=x"vxe[0.1]t 3R Fsft gercaa goiiat & faw n, &

Options :

1% (f,) Tt ot g o wfEERa #g gar

| o (o) 9w g W e dar & fig e w0 @ sfreia

y « (f) FT Rl o AR gl & g g0 e Rl ov iR
gl gl

4. % (f) vEwAE ®O G HAEERd gar ¢

Question id : 5954 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of elements of order 5 in the group Z,; Z.1s

Options :
1.% 5

2. % 10
3. 24
4. % 12

Question id : 5954 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Z,®Z8Hg A &A 5 & Nagdl & §EdT a8 § F41§

Options :
1.% 5
2.% 10
3.¢ 24
4. % 12

Question id : 5955 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let Fy Fg and F g be finte fields of 4. § and 16 elements respectively then

Options :

1. v F,is 1somorphic to a subfield of F;
2. % F,is isomeorphic to a subfield of Fg
3. #® Fgisisomorphic to a subfield of Fjs
4. % Fjgis1somorphic to a subfield of Fj4

Question id : 5955 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
o ST TR £y Fg 3R Fipp IR a7 § 3R 356 3@ag #ae: 4, 8 3R 16 8 O

Options :

1.V F; 39aTT &1 Fy Joamail

2. % Fg 3UaTT & Fy JEATRN &

3. % Fyp 3UET & Fg qoa@RT ©

4. ® Ffﬁ' 3IUETH & F;‘.g Hava HRT %
Question id : 5956 Question Type : MCQ (Correct + 1.0, Wrong - 0.9)
The system of equations ix +y +tz=I;x+thkytz=kandx+y+ k==&
does not have a solution, if k is equal to

Options :

1. %1

2.% 0

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  14/42
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3. % g
4.9 2

Question id : 5956 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT YU hx + v+ 2= Lx Fhky + 2=k AN x £y + kz = k5 &1 B g
FET 8, Iaw 5 4 A ¥ e aeX &

Options :

1.% 1

2.% 0

3.% -1

4.9 2

Question id : 5957 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

x+4A  x X
The value of x for which the matrix A=| x x+4 X |issmgularis
X X Xx+A

Options :

1. % x=232
2.4 x=+ 13
3. % x=-(1)

4. % x=0

Question id : 5957 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

| x+4 X x |

X & AT 77 § omd FRor dtFw A=| v x+4d x (EeEwr g
i_ x x x—/"__i

Options :

1.% x =-3

2.¢ x = - M3)

3.8 x=-(2)

4. % x =0

Question id : 5958 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

|01 -3 -1

The rank of the matrix II ¢ d 1:'15
|13 & 0 2]
11 =2 o]

Options :

1. % 4

2. % 3

3.2

4.% 1

Question id : 5958 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

[0 1 3 1]
[t e 1 1| - X
ﬁﬁw-} ' 5 2.Eﬁ‘ria$ﬂﬁﬁw%
[t 1 2 0]
Options :
1.% 4
2.% 3
3.7/ 2
4. % 1

Question id : 5959  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A rigid body moving freely in space has degrees of freedom

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  15/42
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Options :
1. % 3

2.v 6
3.% 9
4.% 4

Question id : 5959  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

IORET F Taod T G AfOHAT UF FoX s fr s fr @ s=mA g T g
Options :

1.% 3

2.v 6

3.% 9

4. % 4

Question id : 5960 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The product of generalized coordinates and its conjugate momentum has the dimension of

Options :

1. % force

2. % Energy

3. % linear momentum

4. angular momentum

Question id : 5960 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o ST & AOERe AR S §gIA Had & A S8 = §

Options :
1. % dof
2.8 zar
3.% g gan
4. sl |47

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

LetX=(3 2-1),Y=¢2,4, 1), Z= (4, 0,-3) and W = (10, 4,-5) be vectorin W'a
real vector space. Which one of the following 1s correct?

Options :

1.8 2X+Z=W,V+Z=W
2. IX-¥=ZY+2Z=W
3.8 X+Z=W,2Y+Y=Z
4. %8 2Z+Y=W,X-Y=Z

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afe v aredfas afewr fEgwas W & X = (3, 2-1), Y=(2 4, 1),
Z = (4, 0-3) 3R W = (10, 4-5) afea &1 o Twfefaa & 9 a7
|G 7

Options :

1. 2X+Z2=W Y+ =W

22X -Y =L VL =W

3R XN+ Z=W 2X+ Y=<

4.8 27+ Y =W X-Y =7

Question id : 5962  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If T is an idempotent linear operator then T is diagonalisable and onlv eigen values of T are

Options :

1. Oand1
2.% land?2
3.% land-1

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  16/42
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4, % Qand-1

Question id : 5962  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e T v T09H I8¢ OaRT § dr T fTwve 3 § ik T & veas 3ifEests

(3TS31=T) AT S8 & &7 G
Options :

1L.v 0 3R 1

2.% 1 3w 2

3.% 1 3w 1

4.% 0 3R -1

Question id : 5963  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Gauss Seidal method gives results faster when the pivotal elements are

Options :
1. * smaller than other coefficients
2.« larger than other coefficients

3. # equal to other coefficients

4. % No relation with coefficients

Question id : 5963  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g wrsser fafer caitg uftors ot § o9 oes saad

Options :

1. ® 377 AOTRRT &7 Jedall # B B &
2. 3T AU & e A T3 B §
3. % 379 AUIH & SR B

4. % 3 TONH F A PS FaT TG §

Question id : 5964 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Gauss forward interpolation formula mvolves

Options :

1. % Even differences above the central line and odd differences on the central line
2. % Even differences below the central line and odd differences on the central line
3. v odd differences below the central line and even differences on the central line

4. % odd differences above the central line and even differences on the central line

Question id : 5964 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T HHES HAA WHA H S5 § FT WAT b

Options :
L * F&7 W@ & 3R &7 feaan AR 87 @ w faum feade
2% 5 @ & e 86 Feaae ik & ) Twn S
3.Y HE W@ F A" G Geade 3K &E @ | 96 feaae
4. % F&w W@ & F favw feaan 3R & @ W s Sead
Question id : 5965 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
From the given data. the maximum value of v 15 grven as

x -1 1 2 3
v -21 15 12

Lo

Options :

1.v Atx=11743 v,,,.=15.171612
2. % Atx=0.1743. vy.=15.171612
3.8 Atx=-11743 v,.,=15.171612

Smax

4. % Atx=2.1743, v =15.171612

Question id : 5965 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. ..
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dArr few e ger &, y & siEdas \e e fear =

X -1 1 2 3
y -21 15 12 3

Options :
1. % = 11743, ¥ya=15171612 9@

2.% x = 01743, y,,5=15.171612 TX
3. % x = -1.1743, yo,=15.171612 oX
4% X = 21743, ypay=15.171612 T

Question id : 5966 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
cosz

Residue of

atz=01s

Options :
1.v 1
2.% 1
3.8 2

4.% 0

Question id : 5966 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
z=0m CO_‘" T Jafese fhae &

Options :
1.v 1

2.8 1
3% 2
4.% 0

Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If z=a 1is an isolated singulanity of f and f(z) Zﬂ“(:—a)" is 1ts Laurent

expansion m annfa;0,R). then z=a 1s a removable singularity 1f
Options :

1.v a,=0.n<-1

2.% g =20.n=-1

3.% g,=0.nz-1

4.% g #0,n=-1
Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A difaT & z=a, F &1 qas faeeorar € 3w ann@0R) # saer
dile fawar f(2) = a,(z—a)" §, dF z=2 g0 S T3 facrarorar gof,
afy

Options :

1.v a,=0n=-1

2.% g #0.n=-1

3.% q=0n=-1

4.% g =0.nz-1

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In dual simplex method leaving variable position 15 positive after the iteration. then in next iteration
or m some later iterations the vanable occupving the place of this variable m the table

Options :
1. ¥ can become negative

2. % cannot become negative

3, % will alwavs become negative
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4. # Will always equals to zero

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
sa¥e fArcas afg & aft gavefca & ag 898 7 W ofr & Ty g

ST JeRIghcd o7 &g & Bl qeRigicd # drfela & ¥ 9red = afar

Options :

1. FHOTHF g7 Gl &

2. % FONCHS G181 Tehell §
3. % gHT RMOUNCHS Bl

4. % GHEAT YFT F T gol

Question id : 5969  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two vertices of the feasible region P of an LPP are x;=(0. 1. 1. 2) and

xy =(3.0.0.1). Then. a point which cannot be a vertex of P 15
Options :

1. % (1.2/3.2/3.5/3)

2. % (6-1.-1.0)

3. % (1/2.5/6.5/6. 11/6)

4. ¢ (1.2/3.2/3.5/3). (6.-1.-1.0). (12, 5/6.5/6. 11/6)

Question id : 5969 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T LPP & =@ag & P & & fERifag x= (0, 1. 1. 2) 3R x, =(3,0,0,1) &1 o ag

fag @l &1 § o P &7 ofif 77 & wepar £

Options :

1. % (1,213, 2/3, 5/3)

2. % (6,-1,-1,0)

3. % (1/2, 5/6, 5/6, 11/6)

4.« (1,213, 2/3, 5/3), (6.-1,-1,0), (1/2, 5/6, 56, 11/6)

Question id : 5970  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The necessary and sufficient condition for a set B to be a subset of A is that

Options :

1. AuB=A

2. % (A-B)nB=¢
3. % (AnB)wB=¢
4. % 4UB=B

Question id : 5970  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A &7 IT=T g & T 9T B 8 3T 3R wtg s s = b
Options :

1.v 4_UB=A4

2.% (4-B)mB=¢

3. % (AdnB)uB=¢

4. % AUB=B

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The difference between the digit of a two-digit number 15 4. What is the digit m vnt's place? To
find out the answer. which of the information given in the statement P and Q 1s/are sufficient.

P: The difference between the number and the number obtained by interchanging the positions
of the digit 15 36.

Q: The sum of the digits of the number 15 12.
Options :
1. % only Pis sufficient
2.« only Qs sufficient
3. % Both P and Q are sufficient

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul... 19/42
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4. # Either P or Q is sufficient

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T 37T el T HET & e & a9 & AR 4§l SRS & T TR BT T NG §7

IR 9 & e, Fua P 3R Q 7 § 715 Fia 3 g3 wrea §

P: T 3R 3T & TufT & 30 # Seod © urtg & IS ST & 3aT 36 B
Q: €T F Her & AEr 12

Options :

1. % &gl P waTea §

2. Fae Q wITT &

3.% P 3t Q g e §

4% grar P ogead § 9T Q O §

Question id : 5972  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

2
- ol

: ; . X .
The line [x+my+n=0 is a normal to the ellipse —+-—=11f
a’

b
Options :
% a b (a@-b)
’ ront n
,x L 8 @8y
Frow "

a’ 5 h_ (@ _;hl ¥

m n

,ya @ B (@b
5 m "

Question id : 5972 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

grgea l—:—‘v;=1 & o I@r k+my+n=0 AT §, 9%
Options :
L a’_bﬂ (a =B
’ P owf n
Ju. B _@BY
I m n
3 ” a! J_b_gz(ﬂ:—bl}:
’ ol "
4. ® a_:+b—:+7(a_ _jb;)_ =0
o i

Question id : 5973  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The general equation of second degree ax” + 2y ~by” +2gx+2fy+c=0

represents a hyperbola if

Options :
1.% B <ab

2.% Bt =—qb

3. % B sJab

4. I >ab

Question id : 5973  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
giad #ife &1 aWeT §ET af + 2y~ + 2ex+ 2 fr+e=0Th
stfaaera &1 gutar &, afe

Options :
1% B <ab

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul... 20/42



3/28/2016 iAKC - Question Paper Preview
2.% W =ab

3% s Jab

4. W =ab

Question id : 5974  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The value of [ ‘Ta’iﬂdxis equal to

-1

Options :
1. % (e-1)

2. e-1)
3. % Fe-1)

4. % Xl-e)

Question id : 5974  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
1

I='[é‘1dx & A S O R el
|

Options :

1. % (e-1)

2. Zle-1)

3. % Fle-1)
4. % 2(1-e)

Question id : 5975  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The value of |

L)
Options :

1. ¢ 2.fx -4 4.—105_r|_\""r4 +1| +c
2. % 2+ 4log[ +1l+c

3. % 2 —logl¥* +1|+c

4. % 2fx +4x# +log|¥* +1+c

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5975  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
gedraeh Rigel &l 915 9% a7 ATTIN?
(h.

e

Vx(1+4x)
Options :
1. 2x -4 +log|x +1]+¢
2. % 24fx +4log| +1+¢
3. % :J}—log|x”*+1|+c

4. %8 2y rax¥ —10g|.\1"“ —'-1| +c

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.
Question id : 5976  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

T
The value of definite integral J @sin’® Heos 8D is equal to

[}

Options :
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T
3. % £V
4% %

32

Question id : 5976  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fead TAmRT J'a‘:?sﬁfc‘:?cos&fe & AT ST O RS e §
[t}

Options :

K33
1. % —
' 32

3T
2. )
3. % ﬁ
4% =

32

English Language

Section type : Online, Number of Questions to be a pted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0

Subsection : 3, Question Shuffling Allowed : Yes

Question id : 5977 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word 1 capital letters
TRANSITORY

Options :

1. % Unstable

2. & Illusory

3. ¥ Short—lived

4. % Unreal

Question id : 5977 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word in capital letters
TRANSITORY

Options :

1. % Unstable

2. & Illusory

3. ¥ Short—lived

4. % Unreal

Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word 1 capital letters
BELITTLE

Options :

1. ® Demolish

2. ¥ Demean

3. # Disapprove

4. % Blame

Question id : 5978 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word 1 capital letters
BELITTLE

Options :

1. # Demolish

2. ¥ Demean

3. #® Disapprove
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4, # Blame

Question id : 5979  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

FLEXIBLE
Options :

1. # Rough
2.« Rigid
3. % Blunt
4. % Reliable

Question id : 5979  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word opposite in meaning to the word mn capital letters.
FLEXIBLE

Options :

1. % Rough

2.« Rigid

3. % Blunt

4. % Reliable

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word opposite in meaning to the word mn capital letters.
SECULAR

Options :

1. ® Righteous

2.+ Religious

3. # Moral

4. ® Spiritual

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

SECULAR

Options :

1. % Righteous

2.« Religious

3. % Moral

4, % Spiritual

Question id : 5981 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the question given below. out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same tune

Options :

1. % Monogamy

2. % Matrimonv

3, & Bigamv

4.« Polygamy

Question id : 5981  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

In the question given below. out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same tune
Options :

1. % Monogamy

2. & Matnimony

3. #® Bigamy

4.« Polygamy
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Question id : 5982  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choeosing the night world cut of the options given at
the end of each sentence.

We can look the word m the dictionary

Options :

1. % For

2.v Up

3.% On

4. % Over

Question id : 5982 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. % For

2.¢ Up

3.% On

4. % Over

Question id : 5983  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choesing the night world cut of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

1.v On

2. % With

3. % Over

4. % Above

Question id : 5983  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Fill in the blanks in the following sentences by choeosing the night world cut of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

1.¥ On

2. % With

3. % Over

4. % Above

Question id : 5984 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think vou can handle situation?

Options :

1.% a

2. v the

3. % an

4. % article

Question id : 5984 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choeosing the night world cut of the options given at
the end of each sentence.

Do vou think vou can handle situation?

Options :
1. % a

2. ¥ The
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3. % an

4. % article

Question id : 5985 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosmg the right world out of
the options given at the end of each sentence.

He was fond of playing tennis it was his father’s favorite game

Options :

1. % Since
2. % and

3. ¢ because

4. % until

Question id : 5985 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world cut of the options given at
the end of each sentence.

He was fond of plaving tennis it was hus father's favorite game

Options :

1. % Since
2. % and

3. ¥ because

4. % until

Question id : 5986 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill 1n the blanks in the following sentences by choosing the right world out of
the options given at the end of each sentence
The passengers wear their seatbelts at all the times

Options :
1. ¥ may
2. % Could
3. % mght

4. ¥ must

Question id : 5986 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at

the end of each sentence

The passengers wear their seatbelts at all the tunes

Options :
1. % may

2. % Could
3. % mght

4. & must

Question id : 5987 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence
which has the error.

No sooner did the mother reach home when the child started crying

Options :
1. % No sooner did

2. % the mother reach home

3.« when the child started crying

4. % No error

Question id : 5987 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
In the following sentences there mayv an error. Choose the part of the sentence which has the error.

No sooner did the mother reach home when the child started crying

Options :
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1. # No sooner did
2. % the mother reach home
3.+ when the child started crying

4. % No error

Question id : 5988 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence
which has the error.

He will face serious problems if he will not change his attitude.
Options :

1. # He will face serious problems

2. ¥ ifhe wall not

3. # Change his attitude.

4. % No error

Question id : 5988 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence which has the error.

He will face serious problems if he will not change his attitude.

Options :
1. # He will face serious problems

2.9 ifhe will not
3. # Change his attitude.

4. % No error

Question id : 5989  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

I think that between Ram and Suresh Ram 1s the most intelligent

Options :
1. % 1 think that

2. % between Ram and Suresh

3.« Ram is the most mtelligent

4. % No error

Question id : 5989  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there mayv an error. Choose the part of the sentence which has the error.

I think that between Ram and Suresh Ram is the most intelligent

Options :
1. % T think that
2. % hetween Ram and Suresh

3.« Ram 15 the most intelligent

4. % No error

Question id : 5990  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

They can promise you an experience you won t ever target

Options :

1. # They can promise you
2. #® an experience

3, #% wyouwon'tever target

4. v No error

Question id : 5990  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence which has the error.

They can promise you an experience you won 't ever target
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Options :
1. # Thev can promise you

2. # an experience
3. #® youwon'tever target

4. ¥ Noerror

Question id : 5991  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

The dress that the girl wore was more attractive than the other girls

Options :

1. % The dress that the girl wore
2. % was more attractive

3.+ than the other girls

4. % No error

Question id : 5991  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence which has the error.

The dress that the girl wore was more attractive than the other girls

Options :
1. # The dress that the girl wore

2. % was more attractive
3.« than the other girls

4. % No error

Question id : 5992  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Malaese
2. % Melaize
3. % Melaise
4. ¢ Malaise

Question id : 5992  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Choose which of the following 1s spelt correct
Options :

1. % Malaese

2. % Melaize

3. % Melaise

4. Malaise

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Grevance

2. % Greviance

3. v Grievance

4. % Grisvence

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Grevance

2. % Greviance

3. ¢ Grievance

4. % Grievence
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Question id : 5994  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ultra Vires 15 a term used for

Options :

1. % A document corrupted virus

2. ¢ An act beyond the authority of law
3, #% An act authorized by law

4. # Anillegal act

Question id : 5994  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Ultra Vires 15 a term used for

Options :

1. % A document corrupted virus

2.« An act beyond the authority of law
3. #% An act authorized by law

4, % Anillegal act

Question id : 5995  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Viv-a-vis means:

Options :

1. % Digact

2. % Opposite
3. ¥ Face to face
4, % Agree

Question id : 5995 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Viv-a-vis means:

Options :

1. % Disect

2. % Oppostte
3. ¥ Face to face
4, ® Agree

Question id : 5996  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

“Gaft of the gab™ means:

Options :

1. % Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4, % Gift from unknown person

Question id : 5996  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
“Gift of the gab” means:

Options :

1. % Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4. % Guft from unknown person

General Intelligence/Reasoning
Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 4, Question Shuffling Allowed : Yes

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Odometer : Mileage :: Compass :
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Options :
1. 8 Speed

2. # Hiang
3. % Needle
4. v Direction

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& 17 el & TI9T 9=a] & 939 &)

HETHRT  ASeS © FEIE -
Options :

1. % afg

2. % dgor ofdl araAr (ETSTeRan)
3.% g3

4. fgar

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Marathon : Race - Hibernation :
Options :
1. % Winter
2. % Bear
3.« Sleep

4. % Dream

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&3 arv faeredl & HaT9g o=al & I9d |

[P A A A = o o

Options :

1% wgf

2. & HIel

3.v Folg

4, % T

Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Vigilant - Alert :; viable :
Options :
1. % Beautiful
2. % Useful
3. #® Siumple
4. v Feasible

Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& 17 aedl § §aT9d U=al & 99 $)

AT - ek o AT ¢

Options :

1. % gecd

2. % o=l

3. % FENEET

4. @

Question id : 6000 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Select the related words from the given alternatives.

Amnesia - Memory :; Paralvsis :
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Options :
1. # Handicapped

2. ¢ Movement
3. % Legs
4. % Limbs

Question id : 6000 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o3 717 fasredl & wafag e=el & =9a #

faeaAToT: TAfT - siepar :
Options :

1. % Taeherar

2. rdrefierar

3.% &7

4. % 3y

Question id : 6001  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following question a letter series 15 given. in which some letters are missing. The missing
letters are given in the proper sequence as one of the alternatives. Choose the correct altemative
ba — ba— bac —ach - c abe

Options :

1. % aach
2. % thbea
3. ccba
4. % chac

Question id : 6001  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafoad vesd # T aof & faar I §, TSes Fo avl segued o) feer ve

fadeT & w9 # Fufead a1 3fa Fa & BF 71w §) 96 bdeT &1 a9 )
ba—ba—bac —acb - c abc

Options :

1. % aach

2. % bbea

3. ccba

4. % cbac

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following question a letter series 1 given. 1n which some letters are missing. The missing
letters are given i the proper sequence as one of the alternatives. Choose the correct alternative

bca—b—aabc—a—caa
Options :

1.9 acab

2. % bebb

3. % chab

4. % ccab

Correct option is 1 and hence changed answer to 1.

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

frafoad vesd # T qof & faar 9 §, fSes Fo avl sgued ¢ feer ve

famed 7 # sequitad ao1 sfaa w7 # &7 av §) wfr fawes &1 =37 U

bca—b—aabc—a—caa
Options :

1. ¥ acab

2. % bebb

3. % chab

4. % ccab
Correct option is 1 and hence changed answer to 1.

Question id : 6003  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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If in & certain language MADRAS 15 coded a NBESBT. how 1s BOMBAY coded in that language?

Options :

1. ¥ CPNCBX
2. CPNCBZ
3. % CPOCBZ
4. % CQOCBZ

Question id : 6003  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tz gt Tfag smr & MADRAS &7 NBESBT &5 f2ar Sar &, o 54T 9y &

BOMBAY T @IS &1 §RE?
Options :

1. ¥ CPNCBX

2. CPNCBZ

3. # CPOCBZ

4. % CQOCBZ

Question id : 6004 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If SCIENCE 15 coded as UFJTIM., then GENE will be coded as:

Options :

1.+ HGQI
2. % THRJ
3. % THRI
4. % THSJ

For the above question, User had specified 'full' during keys upload.

Question id : 6004 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
f& SCIENCE &7 &5 UFITIM £ @7 GENE &7 18 &1 gHm?

Options :

1.« HGQI
2. % THRI
3. % IHRI
4. % THSJ

For the above question, User had specified 'full' during keys upload.

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following pairs is different from the rest three?

Options :

1. # Twigs: Nest

2. % Gold : Ornaments
3. Picture : Pottery

4. % Wood : furniture

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
SeTH W hiel T SIST 3eq did & 370 87

Options :

1. % 3TdEm @ =1

2. % FGOT : 3T

3. FREsRT FeEnl
4. % ofFET: T

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Which one of the followmg pairs is different from the rest three?

Options :

1. Tongue : Taste

2. ® Eye:Blmnd
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3. % Ear:Deaf
4. % Leg:Lame

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Traffaa & & ST @1 5T 377 dF T 3w 87

Options :

1. ¥ ey warg

2. % 3 e

3. % Thld [ dRT

4. % T wETET

Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Which one of the followmg pairs is different from the rest three?
Options :

1. # Mercury : Sun

2. # Moon - Earth

3. % Wheel : Axle
4.« Star : Galaxy

Question id : 6007 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
rafafad # & sta |1 ST 3w dia O 37T 57

Options :

L ® g 3fd

2. % weq @ gl

3, % ufgar: =it

4. GRT: 3TERTEET

Question id : 6008 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Arrange the followmg words according to the English dictionary.
1. Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :
1.¥v 2.5.4.3.1

2.8 80T eAl

N

i

37

i Lot Dt 58

W
2
e
—
(5]

®
.

I

4

Question id : 6008 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3T STeEhIeT th AN folFalolidd el &l sadiedd &l

1 Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :

.¥2.5.4.3.1
2.% 3.2.1..4.5
3.% 5.2.4.1.3
4.% 5.1.4.3.2

Question id : 6009 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Sunil 15 heavier than Abhinav but not as heavy as Rajv, Abhinav 1s heavier than Jayvesh Kashi 1s
heavier than Sunil. But Sunil 1s not as heavy as Rajrv. Who 15 the heaviest?

Options :

1. v Sunil

2. % Abhmav
3. % Ranv
4. % Kashi

For the above question, User had specified 'full' during keys upload.

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  32/42



3/28/2016 iAKC - Question Paper Preview

Question id : 6009  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e, foea & 9l § Aftee weie S J6 afaea, S § o g el g

Ay 71 Al Geller, Tolig e sl 767 . o ST § Fau Al @l 57

Options :

1. Gelrer
2. % farq
3. % retE|
4. % el

For the above question, User had specified 'full' during keys upload.

Question id : 6010  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A woman said to a man. The daughter of vour only sister 15 the sister of my husband. What 15 the
relation of the man’s sister to the woman?

Options :

1. ¥ Mother

2. ¥ Mother —in— law

3. % Sister

4. % Data madequate

Question id : 6010  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Th A Us GEY G &gl ST Tehelld! agel T 98 A ufd Fr ager §1 39 gEw &

FEel o Gy 39 T & Gy e Rear 7

Options :
1. % 7y

2. HH
3. # dgel

4. % yugieg ge

Question id : 6011  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

A man walks 1km towards East and then tums to South and walks 3 kan. Again he turns to east and
walks 2 km. after then he turns to North and walks 9 km. How far 1s he now from his starting poumt?
Options :

1. % 3km

2. % 4km

3.¥ S5km

4. % Tkm

Question id : 6011  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T IEAT 9a @1 3R 1 AL Twar & e afaer f R gsax 5 B aear B aw

T & gd &1 3R Hsay 2 fal =efar §1 30d aig 9 3ook feen A 9 T =erdn &,
379 a6 9w IR g ¥ fhael gt W 87

Options :

1% 3faar
2. % 4 TR
3.¢ sTeAn
4. % 7faHn

General Aptitude/Numerical Ability
Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6012  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Find out the missing numbers i the following series:

12151417719
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Options :
1. % 18
2.¥ 16
3. % 13
4. % 15

Question id : 6012  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
TorraferiarT Aol # 37Teqaieerd T o &

12,15 14.177 19

Options :

1. % 18

2.¥ 16

3.% 13

4. % 15

Question id : 6013  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Arrange the following fractions in the descending order:

1 2 3 4

3787779

Options :
1. ®

o | e
w | ra

[S8]
®
~ | wa
q;l-s-
o [
w | e

hd
4
D | e
-\;|m

w | s
w |

ERE S
||—-
|

o
u

Question id : 6013  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
HEE &7 7 Srata@a @ea 373 & aafg 1

1 &
79

3°

| es

3
7

Options :
1. %

@ [
|

2. ®

~3|w

w“l-p W e

r.r:|r.\ ng
| = u“{,_. '

W
w

3.¢

@ |

e

™

4. %

0 |
uljl-‘

w |

Question id : 6014 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The maximum number of devotees among whom 340 eranges. 430 apples and 630 bananas can be
distributed i such a way that number of oranges. apples and bananas remaimns the same 1s

Options :
1.v 85
2. % 90
3. % 80
4. % 105

For the above question, User had specified 'full' during keys upload.

Question id : 6014 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0) . L. . . .
AT ¥ TP TH TETT FT ¢ [SiaTet T 540 TR, 450 AT 31K 630 Fel S ST, A A HFd F I HRY, A&t 3 el Hr T&ar A= 12

Options :
1.v 85
2. % 90
3. % 80
4. % 105
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For the above question, User had specified 'full' during keys upload.

Question id : 6015  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Kiran had 85 currency notes in all some of which were of 100 denomination and the remamnmg of 30
denomination The total amount of all these currency notes was s 3000, How much amount did she
have in the denomination of Rs. 507

Options :

1. ¥ Rs.3500
2. % Rs. 4000
3. % Rs.4200
4. % Rs.4500

Question id : 6015  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
faRor & 9 Fe 85 Al F, R ¥ Fo 100 799 & o 3R awhr 50 s & O 3G

= | Al & el TET 5000 F94 41, dF 396 91 50 FUI & AT H Thdedl A
ofr? )

Options :

1.V 3500 ¥9%F

2. % 4000 T

3. % 4200 TI

4. % 4500 T

Question id : 6016  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The sides of triangle are 1n the ratio of-' = i'and its perimeter 1s 104 cm.

The length of the longest side 1s:
Options :

1.% 52 cm

2.¥ 48 cm

3.% 32em

4. % 26cm

Question id : 6016 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
L | 1 1 =
v Perst e s o & yawa 7 § 3 swer afa 104 €A f
dar e &1 Gaq a3 oS d wEars fEhaer gei?

Options :

L% 5235
2.9 48 {4
3.% 3284
4. % 26 J.HT,

Question id : 6017 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
In a school, 10% of the boys are the same in number as — of the girls. What is
the ratio of the boys to girls in that school?

Options :

1.% 3:2
2.¥ 5:2

3.% 21
4.% 43

Question id : 6017 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Thol H WSSl & GEAT HT 10%, oISTHdl H T&T é?% & TR §, A1 39 Thel

# ol 3R oEGl f e S AGad 74T 67

Options :
1.% 3.2

2.¢ 5:2
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3.8% 21
4. % 43

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If a sum of money at simple mterest doubles In 6 vears, 1t will become 4 times mn:
Options :

1. % 12 vears

2. ® 14 vears

3, % 16 vears

4, 18 vears

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i AN =T WX U U1 6 W A SR g7 Sl 8, a Ig i fhde @ A AR

AT BT SATCA?

Options :

1% 1| #
2.% 149 H
3.% 6@ H
4. 184@me H

Question id : 6019  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A library has an average of 310 visitors on Sundays and 240 on other dayvs. The average number of
visitors per day in a month of 30 days beginning with a Sunday 15

Options :
1. % 250
2. % 276
3. % 280
4. & 285

Question id : 6019  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
T g H {@aR & B WA 510 AGE 3 6 3R ey feAl A gerhr
AT 240 B B, o AR ¥ % o are 30 feA & ve #EW & e v sid

T widiesT fehaar gram?

Options :
1. % 250
2. % 276
3. % 280
4. 285
Question id : 6020 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Six vears ago. the ratio of the ages of kunal and Sagar was 6:5 four vears hence, the ratio of their
ages will be 11:10 what is Sagar's age at present?

Options :

1. ¢ 16 vears
2. % 18 vears
3. % 20 vears

4, ® 22 years

Question id : 6020  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
©: |ST 960l FONS 3R WER &7 3/ H FAIE 6:5 AT 3 F IR el aG Jefehl 36

& HeAUT 11:10 §WT| §OR H 37 30 a4 2
Options :

1. 16 |

2. % 18 M€l

3. % 209

4. % 229
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Question id : 6021  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

If there is a profit of 20% on the cost price. then the percentage of profit on the sale price 1s:
Options :

1.V 162 %

2. % 12%

3.% 15209

4. % 16%

Question id : 6021 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Iie FF Hed W 20% & o FAerar §, af foehr e W fhden widera oms gen?

Options :
1.¥ 162 %
2. % 12%
3. % 153%

4. % 16%

Question id : 6022  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Mr. Krishna purchased a flat for Rs. 9.25.000 and spent Rs. 35000 on 1its renovation. If he sold the
flat for Rs. 10.80.000. then the percentage of his profit 1s:

Options :
1. % 15%
2.% 175%
3. % 20%
4. ¢ 12.5%

Question id : 6022  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT, FEOT F 9.25.000 I F v Fole Tl AN $H6 AdIHOT H 33000 T I H

2w, afe 3ogie 59 weie &7 10.80.000 S92 # 9= 23m &1, a7 oo fohaem widew @
THer?

Options :

1. % 13%

2. % 17.5%

3. % 20%

4.¢ 12.5%

Question id : 6023  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If 6 men working 8 hours a day earn Rs 1680 per week, then 9 men working 6 hours a dav will eamn
per week:

Options :

1. % Rs 1680
2. % Rs1920
3. % Rs2680
4. Rs 1890

Question id : 6023  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g 6 AT & FEmfaled &7 3 §¥ HtdE 1680 9 & ¢, df 9 =afFd 6 9/

ufafea &9 avg §Y Y §edg fehcta FHTTI?

Options :

1. % 1680 T
2. % 1920 w9
3. % 2680 TG
4. v 1890 T

Question id : 6024 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
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A pipe can fill a tank with water in 3 hours. Due to leakage in the bottom of the
tank 1t takes 3 % hours to fill 1t. In what time will the leakage empty the fully
filled tank?
Options :
1. % 12 hours
2. % 15 hours
3. % 18 hours

4.9 21 hours

Question id : 6024 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T 9159 Uk &b @ 3 °¢ & oRar g1 & i aol § ¢ g & R a9 35 H
A oY OTaT ¥ AF B W S U I H fhas wAT #F @l &

Options :

L#® 105

2.% 159

3.% 189

4.¥ 219

Question id : 6025 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A can travelling at a speed of 40 lm/h can complete a journey in 9 hours. How long will it take to
travel the same distance at 60 km/h 7

Options :

1. ¥ 6 hours
2. % 5 hours
3. #% 4 hours

4. % 3 hours
Correct option is 1 and hence changed answer to 1.

Question id : 6025 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
A wF g @ 40 e f1 afa § o 9T # o FC g&ar §, dF a5 60 fEALET &y

aifd & 3o & gl &1 fohas 9¢ & W &Y o

Options :

1.V gge

2% s5g2

3.8 49

4.% 39z

Correct option is 1 and hence changed answer to 1.

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A man compietes% of a job 1n 10 days. At this rate how many more days will

he take to finish the job?

Options :
1.¥ 5

2.¢

(=)

3. ®

(r]

4. %

|

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ua:mﬁ?ruawaﬁw%mlﬂ%ﬁﬁ@mhmaﬁﬂ?mﬁﬁwmﬁ
ERGREGEE ERC LTIV

Options :

1.% 35

2.¢¥ 6

3.% 8

4. % 7
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General Knowledge/Awareness
Section type : Online, Number of Questions to be attempted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0
Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The words ‘Satyameva Javate in the National Emblem are taken from:

Options :

1. # Ken upnishad
2.« Mundaka upnishad
3. # Isha upnichad

4. % Ganga upnishacd

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TE i # e ToaRd Sad g o mam g

Options :

1. % het 3UTAUG,
2. Hs% 39Ta9g,
3, % Lo Iufeue
4, % RT3,

Question id : 6028 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Chinese traveller Hiven-Tsang studiad at the university of

Options :

1. % Taxila

2. % Vikramshila
3. % Magadh

4.+ Nalanda

Question id : 6028 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT AT Ede cHET (Hiven-Tsang) 7 fRg ﬁ?d‘i—aqﬂ-llﬂq H Homma faar anm

Options :

1. ® Feferen
2. % fasAfEen
3. % FaTEr

4. Hreter

Question id : 6029 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following Sikh Gurus was beheaded by Aurangzeb?

Options :

1. # GuruRamdas
2.+ Guru Teg Bahadur
3. #® Guru Arjun Dev

4, % Guru Gobind Singh

Question id : 6029  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e & ¥ sieme aaw sl & @ 7% & W FaA [har =@ an

Options :
I

2. TF T TEIET
4. % 7% AfaE e

Question id : 6030 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bhikaji Cama was a :
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Options :
1. % Painter
2. % Poet
3.« Freedom fighter

4. % Scientist

Question id : 6030 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ofr@r=it A v o

Options :

1. % e

2. % iy

3.V EadAdT HAET

4 % Yo

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Name the Indian Cricket legend who was honoured with ‘Life Tume Achievement Award™ in the
House of Lords m London on September 25. 2014,

Options :

1.+ Kapil Dev

2. % Ravi Shastri

3. % Sawrav Ganguly

4. % Sunil Gavaskar

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3 AR GRdhex & @A Fae 5 25 fdey 2014 #7 oea & §139 3% asd &7
Ish T5A HEEde Jae ¥ GFAfad &R amar ar?

Options :

1. &0 &g
2. % hE emEAr
3. % TRa e

4. % eirer IMAEET

Question id : 6032  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
With which game 15 the term “Advantage associated?

Options :

1. % Billiards

2. % Table Tennis

3. Lawn Tennis

4. % Badminton

Question id : 6032  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafofaa # & ‘vsacs g 59 O ¥ F57 &7

Options :

1. # fSfemE
2. % g cfAd
3.¢ i efaw
4. % Ssfifea

Question id : 6033  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Pt Ravi Shanlkar 15 a renovwned :

Options :
1. # Table plaver

2. v Sitarist
3. % Violmists

4. % Sarangi player

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul... 40/42



3/28/2016 iAKC - Question Paper Preview

Question id : 6033  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ufeq I o wF ufg &l

Options :

1% 2ge W
2. ¥ fEaRagH
3. % grfoaaes
4. % FRAT dgd

Question id : 6034  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
“Arjun Award’ 1s given for:

Options :

1. # Bravery on the battlefield

2.+ Outstanding performance in sports
3. ® Exceptional service in emergency

4. % Environmental studies

Question id : 6034 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
EE Gl e sar &1

Options :

1. % =€ & doe 7 Ivar F e

2. @er & How # O uedld & fow
3. % HOIASS & GHT FEERT JaT & 6o
4. % oFieRor & 3EAEe & forw

Question id : 6035 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The longest state(in terms of area) in India is:

Options :
1. ®# Madhya Pradesh
2. % Andhra Pradesh

3. % Maharashtra
4.+ Rajasthan

Question id : 6035 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
R F G o7 T (The & Teal ) &1

Options :

1% Fer meer
2. % ey e
3. ® HgNISg
4. & Tl

Question id : 6036  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Who propounded the Quantum Theorv?

Options :

1. % Albert Einstein
2.« Max plank

3. ® Heisenberg

4, % Max well

Correct option is 2 and hence changed answer to 2.

Question id : 6036  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fared Taad fohder afaaried far am?

Options :

1. % 3fcad IS (Albert Emstein)
2. HF9 wid (Max plank)

3. % grEaidadl (Heisenberg)

4. % Hag Il (Max well)

Correct option is 2 and hence changed answer to 2.
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